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Which of the following does not represent a function A-B,
" where A ={8,6,5,3,10,4} and B ={1,7,9,2}?

(i) {(4,1),(10,9),(8,1),(6,1),(59)} (ii) {(10,7),(4,2),(8,2),(6,2),(5,1),(3,1)}
(iii) {(4,2),(5,9),(10,2),(3,9),(6,7),(8,9)} (iv) {(4,1),(8,9),(10,1),(5,7),(6,2),(3,1)}

(v) {(6,1),(5,2),(10,1),(4,2),(8,7),(3,9)}

. Iff(t)=(6t2+2t+6) then find f(7x—5)

(i) (295x2—406x+146) (i) (292x2—406x+146) (i) (293x%2—406x+146) (iv) (294x%—406x+146)

(v) (296x%—406x+146)

. Iff(x)=(7x+6)andg(y)=(y+8), then findf(4),9(9)
(i) 36,19 (ii) 33,16 (iii)) 34,17 (iv) 32,14 (v) 35,18

Which of the following relations is a function A-B,
" where A = {b,k,fm}and B ={e,l,c,b,a}?

(i) {(m,b),(f,b),(k,N} (ii) {(m,b),(b,e),(k,1),(b,f)} (i) {} (iv) {(m,b),(f,b).(be) (kD}
(v) {(m,b),(f,b),(b,e),(k,1),(b,f)}

Which of the following relations does not represent a function ,A-B,
" where A ={n,h,k,a}and B ={i,e,l,g}?

(i) {(a,9).(nD),(he)(ki} (i) {(n,i),(h,g). (k1. (ah} (i) {(h,g).(ki)(ai).(ne)} (iv) {(kl),(ai)(nl,(h,i)}

(v) {(k,9),(h,i),(h,9).(n,g)}

I ((8x+6y+5),10) =(3,(6x+2y+4)) then find (x,y)
(i) (-3,2) (i) (2,-3) (iii)) (4,-3) (iv) (2,-4) (v) (3,-2)

Find the range in given roster form,
" where R ={(4,6),(3,6),(4,9),(10,7),(4,2)}

() {6,9,7,2} (i) {10,3,4} (i) {1,7,2,9,6,4} (iv) {1,7,2,9,6} (v) {4,3,10,7}

Find the range of .Z—»Z where f(x) = (3)(2 +2x—4)
and domain of fis{x : -2 = x = 2}

(i) {4,-3,1,12,-2} (ii) {-3,-4,1,12,2} (iii) {4,-3,-4,1,11} (iv) {4,-3,-4,1,12} (v) {4,-4,1,12,-2}



9. Find the range of given relation diagram.

(i) {3,4,8,1,10} (i) {3.4,8,1} (i) {6,10,2,9,1} (iv) {1,8,3} (v) {10,9,7,6,2}

Which of the following does not represent a function A-B,
" where A ={6,9,10,4}and B ={7,1,3}?
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Find the domain and range of the given relation
" R:A-B=1{(5,9),(5,1),(5,4),(5,7),(3,9),(3,1),(3,4).(3,7)}

(i) A=4{3,59},B={9.416,3} (i) A={2,8},B={8,7,-4,-5} (iii) A={53},B={914,7}

(iv) A={51},B={7,49,5} (v) A={6,3},B={7,912,1}
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Find the cardinality of the given relation

(i) 4 (ii) 6 (iii) 8 (iv) 5 (v) 3

Find the cardinality of the given roster form,
where R ={(4,10),(4,5),(8,10),(3,5),(4,6)}

(i) 6 (ii) 5 (iii) 2 (iv) 4 (v) 7

If A-Bis defined by f(x)=(6x+7)and A ={1,7,3,5},
find the range

(i) {49,37,25,-8,17,13} (ii) {25,13,49} (iii) {25,13,37,61} (iv) {55,13,49,25} (v) {13,49,25,37}

Find the domain in the given roster form,
where R ={(10,9),(4,9),(2,7),(8,9),(10,3)}

() {10,4,2,8} (ii) {10,4,2,8,7} (i) {5,7,9,3,6} (iv) {1,10,4,8,2} (v) {1,10,4,8,2,3}

If A={h,r,s,a}and B ={j,b,m,g},
which of the following is relation R:A—»B?

(i) {(b,n),(j,c),(m,i),(b,i),(j,)} (ii) {(b,r),(g,h),(g,a).(j,r),(j,h)} (iii) {(h,g),(s,b),(a,m),(s,m),(a,9)}
(iv) {(c,a),(n,r),(n,s),(i,s).(c,n} (v) {(h,0).(a,n)(a,i)(r,n),(s,c)}

If A={1,9,10,2,6}and B ={6,8,1,4,9,10},
then the relation R:A-»B such thata € Ais equal ofb € Bis

(i) {(1,1),(9,9),(10,10)} (i) {(1,1),(9,9),(6,6),(10,10)} (iii) {(1,1),(9,9),(6,6),(10,10),(4,4)}

(iv) {(1,1),(9,9).,(10,10),(7,5)} (v) {(1,1),(9,9).(6,6),(10,10),(2,2)}



If A={6,8,5}and B ={49,36,100,16,64,25},

" then the relation R:A-B such thata € Ais the square root ofb € Bis

19.

20.

B

(i) {(6,36),(8,64),(26,4)} (ii) {(6,36),(8,64),(5,25),(64,8)} (iii) {(6,36),(5,25),(64,8)} (iv)

(v) {(6,36),(8,64),(5,25)}

Find the range of ,Z—»Z where f(x)=(5x-2)
and domain of fis{x:2 =x =<6}

(i) {8,13,18,23,30} (ii) {8,13,18,23,28} (iii) {13,18,23,28,9} (iv)

IfA={6,2,5,10} and B ={9,20,18,7,4,6,8},
then the relation R:A-»Bsuch thata € Ais a factor ofb € Bis

B

(i) {(6,18),(6,6),(2,20),(2,18),(2,6),(2,8),(5,20),(10,20),(5,1)}
(ii) {(6,18),(6,6),(2,20),(2,4),(2,6),(2,8),(5,20),(10,20),(18,2)}
(iii) {(6,18),(6,6),(2,20),(2,18),(2,6),(2,8),(5,20),(10,20)}

(iv) {(6,18),(6,6),(2,20),(2,18),(2,4),(2,6),(2,8),(5,20),(10,20)}

(v) {(6,18),(6,6),(2,20),(2,18),(2,4),(2,6),(2,8),(5,20),(10,20),(18,2)}

{8,18,23,28,11} (v)

{(6,36),(5,25)}

{8,13,18,28,22}



21. IfA={9,10}and B ={6,5}, thenA X Bis
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Which of the following relations R: A—»B represent a function,
" given A ={5,6,10,8} and B ={7,9,3,4} ?
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(i) (i) 1oy voGv)



Write the relation R:A-Bin the given diagram,
" where A ={7,6,8} and B ={10,3,4,9}

(i) {(8,9),(7,3),(7,10),(6,9)} (i) {(8,9),(7,3),(7,10),(6,9),(3,7)} (iii) {(8,9),(7,10),(6,9).(3,7)}
(iv) {(8,9),(7,3),(6,9)} (v) {(8,9).(7,3),(6,9),(11,6)}

Which of the following relations is a function given ,
" A={7,4,23,1}and B ={10,4,9,8,3,6}?

(i) {(7,3),(4,9).(3,4),(1,3),(51)} (ii) {(7,3),(4,9).(3,4),(1,3)} (iii) {(7,3),(4,9).,(2,4),(3,4),(1,3)}

24

(iv) {(7,3),(2,4),(3,4),(1,3),(9,4)} (v) {(7,3),(4,9).(2,4),(3,4),(1,3),(9,4)}

25. Iff(x)=(7x+7), then find f(4)
(i) 34 (ii) 35 (iii) 33 (iv) 37 (v) 36



Assignment Key

1) (i) 2) (iv) 3) (iii) 4) (iv) 5) (v) 6) (ii)
7) (i) 8) (iv) 9) (iv) 10) (ii) 11) (iii) 12) (iv)
13) (ii) 14) (v) 15) (i) 16) (iii) 17) (ii) 18) (v)
19) (ii) 20) (iv) 21) (i) 22) (i) 23) (i) 24) (iii)
25) (i)
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